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EARTH SCIENCE
Paper - 11

1. ‘Interstellar Dust hypothesis’ for the | 4.
origin of the earth was given by :

(A) Laplace

(B) Otto Schmidst

(C) Kant

(D) Jeans and Jeffreys

2. Permian Period belongs to :

(A) Palaeozoic era
.(B) Mesozoic era
©

Caenozoic era

Pre Cambrian era

D)

3. The state of equilibrium between
uplying and lowlying areas on a rotating

earth is known as :
(A) Isochrone
(B) Isoneph

(C) Isohyet

(D) Isostasy

Paper-II

When geomorphic forms and processes
oscillate around a stable average value

due to self regulatory mechanism is

known as :

(A) Steady Time
(B) Cyclic Time
(C) Graded Time

D)

Match the following :

Nickname
(@) Green Planet
(&) Ringed Planet
(9 Red Planet
(d) Veiled planet
Codes :

(@) (b) (o)
Ay @) G G

(B) (@v) (i) (ii)
©) Gii) (v) (i)
D) Gi) Gv) 6

Geological Time

Planet
(i) Venus
(i) Mars
(iii) Uranus
(iv) Saturn
)
@iv)
(@)
@)
(i)
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The gravity and magnetic field have the
following properties :

(a)  Gravity,field follows inverse
square law, while magnetic field
follows inverse cube law

() Both fields are governed by scalar
Laplace equation

(¢) Both fields are derivable from a
scalar Potential

(d) The source of gravity field is a
scalar quantity, while that of
magnetic field is a vector

The properties are :

A) (@, @
®B) (a), (b)
© © @
D) (), Bb)

Which of the following is one of Kepler's
laws of planetary motion ?

(A) Planets move on elliptical orbits
with the sun at one focus

(B) Gravitational force between two
objects decreases as the distance
squared

(C) An object in motion remain in
motion

(D) Inner planets orbits in a different

direction than outer ones

10.

A OGN

Radiometric age is often referred to as

age.
(A) Total
(B) Absolute
(C) Historic

(D) Geologic

Which of the following is not a method
of radiometric dating ?

A U-Pb

(B;) Ar - Ar
(C) Rb-Rb
(D) PbL-Pb

If a radioactive sample has a mean life
of 8270 years, then its half life will be
(A) 4800 years
(B) 5732 years
(C) 6200 years

(D) 6800 years




AR A )

11. The chemical composition of microcline | 14. Which layer of the earth has this bulk

is: chemical composition ?

(&) KAISi;O4 8i0,=44%, AlO;=2%; FeO=8%
(B) KAlSi;04 CaO=2%, MgO=42%, Rest=2%
©) KAISi,04 (A) Crust
(D) KAISiO,

(B) Upper mantle

C) Lo t1
12, Cancrinite belongs to the mineral group © e

of . ‘ : (D) Core
(A) Feldspars

(B) Amphiboles
15. Match the following :

(C) Feldspathoids

(D) Spinel (@ Fo-Fa (i) Orthopyroxene
pinels

solid solution

(b) Ab-An (i) Clinopyroxene

13. Which one of the following is the correct solid solution
order of increasing grade T of |
metamorphism ? (c0 En-Fs (iii) Olivine solid
solution

(a) Andalusite - Kyanite - Sillimanite ;
) L ) i (d) Di-Hd (iv) Plagioclase solid
(b) Andalusite - Sillimanite - Kyanite .
solution

(¢} Kyanite - Andalusite - Sillimanite
Codes :
(d) Kyanite- Sillimanite - Andalusite

(@ (b) () @

Codes :
@) (© 4) Gi)) G(v) @) @@
® ® ® v G 6@ 6
€ (a © @) i) @) @
D @ D) Gi) @ @{v) Gi)
Paper-1T iy T 5 B-08-17




16.

17.

18.

Exfoliation of rocks is due to :

(A) Wind action

(B) Glacial action

(C) River action

(D) Differential weathering

The surfacial process, ‘sedimentation’,
refers to :

(A) Weathering

(B) Transportation

(C) Deposition

(D) Weathering, transportation and
deposition

Vitreous luster is characteristic of :

(A) Nepheline

(B) Orthoclase

(C) Anorthite

(D) Quartz

Paper-II

20.

21.

AR B L

19. Telangana state is located on :

(A) Eastern Dharwar Craton

(B) Eastern and Western Dharwar

Craton
(C} Western Dharwar Craton

(D) Eastern Ghats Mobile Belt

‘Supergene enrichment’ refers to
formation of :

(A) REE - deposits

(B) Fe - deposits
(C) Cu - deposits

(D) Mn - deposits

The zone between two plates sliding
horizontally past one another is called :

(A) Divergent Boundary
(B) Transform Boundary
(C) Convergent Boundary

(D) Triple Junction

B-08-17
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22. The process by which the oceanic
lithosphere splits at oceanic ridges and
moves away from the ridge axes is
known as :

(A) Sea - floor spreading
(B) Mid - oceanic ridge
(C) Triple Junction

(D) Transform plate boundary

23. The liquid layer of the Earth is called :

(A) Inner core

(B) Mantle
(C) Crust
(D) Outer core

24. Match the following :

(a) Inner core (1) Peridotite
(b) Mantle (i1) Liquid Nickel -
Iron - Alloy
(¢ Crust (i1i) Solid Nickel
Iron - Alloy
(d) Outer core (iv) Oxygen - Silicon
and Alumintum
Codes : .
(a) (b) () (d)
@A) Gy @ Gv) 3G
B) @ Gi) @) ()
© ) vy @ Gi)
D)y vy () @) @)

Paper-I1

25.

26.

27.

Seismic waves of P-Type travel :
(A) Slowest in materials
(B) Slower than S-waves
(C) TFastest in materials

(D) On the surface of the material

“Strain is proportional to the stress”.

This statement is related to :

(A) Darcy’s Law
(B) Hooke's Law
(C) Ghyben Herzberg concept

(D) Newton’s Law

Instrument used to measure the

intensity of an earthquake is known as :

(A) Seismograph

(B) Seismogram

(C) Gravimeter

(D) Magnetometer

B-08-17




28.

29.

30.

The folds in which the strata are
uparched (convex upwards), older rocks
occupy in the interior of the fold and

limbs dip away from each other are
called :

(A) Conjugate folds
(B) Recumbent folds
{¢) Synclines

(D) Anticlines

When two normal faults appear on
either side of a central wedge shaped
elongated block in such a way that the
central wedge appears raised high up
with respect to sides, the resultant
structure is known as :

(A) Graben
(B) Gouge
{C) Horst
(D) Nappe

Columnar jointing is prominently
observed in :

‘(A) Basalts
(B) Granites
(C) Schists
(D) Gneisses

Paper-II

31.

32.

33.

TR ARG

The atmospheric motion is not mainly

governed by the following physical law

(A) Conservation of mass
(B) Momentum

(C) Energy

{D) Friction

atmosphere depends only
on the pressure field.

(A) Barotropic

(B) Baroclinic

(C) Geostrophic

(D) Quasi baroclinic

The mean height of troposphere over the

Tropics is about km.
A 8
(B) 10
©) 12
D) 15
B-08-17



A A

84. The size of Indian South-west monsoon | 37. The well-mixed surface layer in the

isona______ scale. ' oceans extends to a depth of about
m.
(A) Planetary (A) 100
(B) 500
(B) Synoptic (C) 1000
(D) 900
(C) Meso
. 38. The Vertical Velocity in a developed
{D) Micro : .
cumulonimbus cloud is about
(A) 4 m/sec
35. Troposphere consists of _____ % of (B) 8 m/sec
total atmospheric weight. (©) 12 m/sec
(D) 16 m/sec
(A) 25
39. Match the following weather
(B) 50 disturbances and their tracts using
chimatology of data :
© 75 @A (B)
(a) Monsoon (i) Westward
(D) 90 Depression direction
(b) Post - monsoon (ii)) Northward
cyclone direction

(¢) Pre - monsoon (iii) Southwest
36. InIndia, the Tsunami advisory is issued

T cyclone direction
by the _____ organization. (d) Western (iv) North-Northwest
A) NIO disturbance direction
Codes :
ER @ ) © @
A ) Gv) @) @)
(C) NRSC B) (i) @ Gv) @)
© (i) Gv) @ @
(D) IMD D) Gv) @) () @)

Paper-II 9 ' B-08:17




40. The height of Easterly jetstream is
L ___ ¥m during south-west
monsoon season.

(A) 8

(B) 12
©© 16
(D) 20

41. A rock body or formation which may be
porous to hold enough quantity of water
and also allow an easy and quick flow
through it :

(A) Aquifer
(B) Aguiclude
(C) Aquifuge
(D) Aquitard

42. The refractive index of the ocean

water :

(A) increases with salinity

(B) increases with temperature

(C) decreases with salinity

(D) decreases with temperature
Paper-11

10

43.

44.

45.

VAN I VS G

Which gas exists in the highest

concentration in the Earth's

atmosphere ?

(A) Hydrocarbon
(B) Ozone

(C) Oxygen

(D) Nitrogen

Which of the following is not a major
contributor to the greenhouse effect ?

@A) €O,
(B) CO
(C) Chlorofluorocarbons

(D) Methane gas

Ozone depletion is caused by :
(A) Nitrous oxide

(B) Carbon dioxide

(C) Chlorofluorocarbon

(D) Methane

B-08-17




(AR I

46.

47.

48.

Paper-IT

Sodium is usually estimated by which
of the following analytical technique ?

(A) Flame photometry

(B) Caloriemetry

(C) High pressure liquid
chromatography

(D) Visible spectrophotometry

Acid rain is caused by :

(4) CO and CO,
(B) SO, and O,
(©) S0, and NO,
(D) NO, and O,

Which of the following does not
contribute to conservation of water ?

(A) Waste water treatment

B)

Waste land development

(C) Watershed protection

(D) Rain water harvesting

49. Bacterial decomposition of biological

50.

material under aerobic condition is :
(A) Fermentation

(B) Fertilization

(C) Contamination

(D) Composting

The quantity of water that a unit volume
of aquifer drains by gravity is called :

(A) Safe yield

(B) Specific capacity
(C) Transmissibility
(D) Storage coefficient

-00o0-
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